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k% __
)set break resume
)sys rm -f richhyper000-099.output
)spool richhyper000-099.output
)set message auto off
)clear all

--8 1 of 510
£0000:= sinh(a+b*x)~(1/2)

--R (1) \lsinh(b x + a)
--R Type: Expression(Integer)
--E 1

--S 2 of 510
r0000:= -2*}i*EllipticE(-1/4*}pi+1/2*}i* (a+b*x) ,2)*_
sinh(at+b*x)~(1/2) /b/ (fi*sinh (a+b*x))~(1/2)

--R There are no library operations named EllipticE

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticE

--R to learn if there is any operation containing " EllipticE " in
--R its name.

--R  Cannot find a definition or applicable library operation named
--R EllipticE with argument type(s)

--R Expression(Complex(Integer))

--R Positivelnteger

--R Perhaps you should use "Q@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 2

--S 3 of 510
a0000:= integrate(t0000,x)

=R (2) | \lsinh(¥N b + a) dJN

--R ++

--R Type: Union(Expression(Integer),...)
-E 3

--S 4 of 510
m0000:= a0000-r0000



--R (3) I \|sinh(%N b + a) d%N - r0000

--R ++

--R Type: Expression(Integer)
--E 4

--S 5 of 510
d0000:= D(m0000,x)

--R (4) \lsinh(b x + a)
--R Type: Expression(Integer)
--E b6

--S 6 of 510
t0001:= sinh(a+b*x)~(3/2)

--R (5) sinh(b x + a)\lsinh(b x + a)
--R Type: Expression(Integer)
--E 6

--S 7 of 510
r0001:= 2/3*(%i*E1llipticF (-1/4%Ypi+1/2*}i*a+1/2xixbxx,2)*_
(%i*sinh(a+b*x)) "~ (1/2)+cosh(a+b*x)*sinh(a+b*x))/sinh(a+b*x) " (1/2)/b

--R

--R  There are 15 exposed and 5 unexposed library operations named +
--R having 2 argument(s) but none was determined to be applicable.
--R Use HyperDoc Browse, or issue

--R )display op +

--R to learn more about the available operations. Perhaps

--R package-calling the operation or using coercions on the arguments
--R will allow you to apply the operation.

--R

--R Cannot find a definition or applicable library operation named +
--R with argument type(s)

--R Expression(Complex(Integer))

--R Polynomial (Complex (Fraction(Integer)))

--R

--R Perhaps you should use "Q" to indicate the required return type,
--R or "$" to specify which version of the function you need.

--E7

--S 8 of 510

a0001:= integrate(t0001,x)



--R ++ o +

--R  (6) | sinh(%N b + a)\|sinh(%N b + a) d%N

--R ++

--R Type: Union(Expression(Integer),...)
--E 8

--S 9 of 510
m0001:= a0001-r0001

--R ++ o +

--R (7) | sinh(%N b + a)\Isinh(4N b + a) d%N - r0001

--R ++

--R Type: Expression(Integer)
--E 9

--S 10 of 510
d0001:= D(m0001,x)

--R (8) sinh(b x + a)\l|sinh(b x + a)
--R Type: Expression(Integer)
--E 10

--S 11 of 510
£0002:= sinh(a+b*x) "~ (5/2)

--R (9) sinh(b x + a) \|sinh(b x + a)
--R Type: Expression(Integer)
--E 11

--S 12 of 510

r0002:= 6/5%%i*E1lipticE(-1/4*pi+1/2*%i* (a+b*x),2)*_
sinh(a+b*x) ~(1/2) /b/ (Ji*sinh(a+b*x) )~ (1/2)+_
2/5*cosh (a+b*x)*sinh (a+b*x) ~(3/2) /b

--R

--R  There are no library operations named EllipticE

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticE

--R to learn if there is any operation containing " EllipticE " in
--R its name.

--R

--R  Cannot find a definition or applicable library operation named



--R EllipticE with argument type(s)
--R Expression(Complex(Integer))
--R Positivelnteger

--R Perhaps you should use "@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 12

--S 13 of 510
a0002:= integrate(t0002,x)

--R X

--R ++ 2 -mmmmm o +

=R (10) | sinh(%N b + a) \|sinh(4N b + a) d%N

--R ++

--R Type: Union(Expression(Integer),...)
--E 13

--S 14 of 510
m0002:= a0002-r0002

--R ++ R +

--R (11) |  sinh(%N b + a) \I|sinh(%N b + a) d%N - r0002

--R ++

--R Type: Expression(Integer)
--E 14

--S 15 of 510
d0002:= D(m0002,x)

--R  (12) sinh(b x + a) \lIsinh(b x + a)
--R Type: Expression(Integer)
--E 15

--S 16 of 510
t0003:= 1/sinh(a+b*x)~(1/2)

--R Type: Expression(Integer)



--S 17 of 510
r0003:= -2%%i*E1lipticF(-1/4*Ypi+1/2*}ix (a+b*x) ,2)*_
(%i*sinh(a+b*x))~(1/2)/b/sinh(a+b*x) ~(1/2)

--R  There are no library operations named EllipticF

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticF

--R to learn if there is any operation containing " EllipticF " in
--R its name.

--R Cannot find a definition or applicable library operation named
--R EllipticF with argument type(s)

--R Expression(Complex(Integer))

--R PositiveInteger

--R Perhaps you should use "Q" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 17

--S 18 of 510
a0003:= integrate(t0003,x)

-R (14) | —mmmmmemmmeee- EVAY

--R \Isinh(%N b + a)
--R Type: Union(Expression(Integer),...)
--E 18

--S 19 of 510
m0003:= a0003-r0003

--R  (15) |  mmmmmmmmmmmmmmeo d%N - r0003

--R \Ilsinh(%N b + a)
--R Type: Expression(Integer)
--E 19

--S 20 of 510
d0003:= D(m0003,x)



--R \Isinh(b x + a)
--R Type: Expression(Integer)
--E 20

--S 21 of 510
t0004:= 1/sinh(a+b*x)~(3/2)

--R sinh(b x + a)\lsinh(b x + a)
--R Type: Expression(Integer)
--E 21

--S 22 of 510

r0004:= -2*cosh(a+b*x) /b/sinh(a+b*x)~(1/2)-_
2x%i*E1lipticE(-1/4%Ypi+1/2*}i* (a+b*x) ,2)*_
sinh(a+b*x) " (1/2) /b/ (hi*sinh(a+b*x))~(1/2)

--R  There are no library operations named EllipticE

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticE

--R to learn if there is any operation containing " EllipticE " in
--R its name.

--R  Cannot find a definition or applicable library operation named
--R EllipticE with argument type(s)

--R Expression(Complex(Integer))

--R Positivelnteger

--R Perhaps you should use "@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 22

--S 23 of 510
a0004:= integrate(t0004,x)

--R ++ 1
--R  (18) | - - -— d%N

--R ++ o +

--R sinh(¥N b + a)\lsinh(%N b + a)

--R Type: Union(Expression(Integer),...)
--E 23

--S 24 of 510
m0004:= a0004-r0004
--R



--R ++ 1
I G 1<) T B d%N - r0004

--R ++ Fomm +

--R sinh(%N b + a)\Isinh(%N b + a)

--R Type: Expression(Integer)
--E 24

--S 25 of 510
d0004:= D(m0004,x)

-k (20) --- - -

--R sinh(b x + a)\lsinh(b x + a)
--R Type: Expression(Integer)
--E 25

--S 26 of 510
t0005:= 1/sinh(a+b*x) ~(5/2)

R (21) --- --- -

--R sinh(b x + a) \Isinh(b x + a)
--R Type: Expression(Integer)
--E 26

--S 27 of 510
r0005:= 2/3%(-cosh(a+b*x)+}i*E1lipticF (-1/4*}pi+1/2%}i*a+1/2x}ixbxx,2)*_
(%i*sinh(a+b*x))~(1/2)*sinh(a+b*x))/b/sinh(a+b*x) ~(3/2)

--R

--R  There are 15 exposed and 5 unexposed library operations named +
--R having 2 argument(s) but none was determined to be applicable.
--R Use HyperDoc Browse, or issue

--R )display op +

--R to learn more about the available operations. Perhaps

--R package-calling the operation or using coercions on the arguments
--R will allow you to apply the operation.

--R

--R  Cannot find a definition or applicable library operation named +
--R with argument type(s)

--R Expression(Complex(Integer))

--R Polynomial (Complex(Fraction(Integer)))

--R

--R Perhaps you should use "@" to indicate the required return type,
--R or "$" to specify which version of the function you need.



--E 27

--S 28 of 510
a0005:= integrate(t0005,x)

--R ++ 1
R (22) | ---——- - --- d%N

--R ++ 2 H——mmmm e +

--R sinh(%4N b + a) \|sinh(%N b + a)

--R Type: Union(Expression(Integer),...)
--E 28

--S 29 of 510
m0005:= a0005-r0005

--R ++ 1
R (23) | - -— -—— d%N - r0005

--R ++ 2 H——mmmmm +

--R sinh(%N b + a) \|sinh(%N b + a)

--R Type: Expression(Integer)
--E 29

--S 30 of 510
d0005:= D(m0005,x)

--R  (24) --- -—- —

--R sinh(b x + a) \|sinh(b x + a)

--R Type: Expression(Integer)
--E 30

--S 31 of 510
t0006:= sinh(a+b*x"n)/x

--R Type: Expression(Integer)

--S 32 of 510
r0006:= (Chi(b*x"n)*sinh(a)+cosh(a)*Shi(b*x"n))/n

10



--R There are no library operations named Chi

--R Use HyperDoc Browse or issue

--R Jwhat op Chi

--R to learn if there is any operation containing " Chi " in its
--R name.

--R  Cannot find a definition or applicable library operation named Chi
--R with argument type(s)
--R Expression(Integer)

--R Perhaps you should use "Q@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 32

--S 33 of 510
a0006:= integrate(t0006,x)

--R X n

--R ++ sinh(b %N + a)

--R  (26) | - d’%N

--R ++ %N

--R Type: Union(Expression(Integer),...)
--E 33

--S 34 of 510
m0006:= a0006-r0006

--R X n

--R ++ sinh(b %N + a)

—R Q7)) |  mmmmmmmmmmmeeee d%N - 10006

--R ++ %N

--R Type: Expression(Integer)
--E 34

--S 35 of 510
d0006:= D(m0006,x)

--R Type: Expression(Integer)

--S 36 of 510
t0007:= sinh(a+b*x)/x"2
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--R sinh(b x + a)

--R Type: Expression(Integer)

--S 37 of 510
r0007:= b*cosh(a)*Chi (b*x)-sinh(a+b*x) /x+b*sinh(a)*Shi (b*x)

--R There are no library operations named Chi

--R Use HyperDoc Browse or issue

--R Jwhat op Chi

--R to learn if there is any operation containing " Chi " in its
--R name.

--R Cannot find a definition or applicable library operation named Chi
--R with argument type(s)
--R Polynomial (Integer)

--R Perhaps you should use "Q@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 37

--S 38 of 510
a0007:= integrate(t0007,x)

--R X

--R ++ sinh(%N b + a)

--R (30) | d%N
--R ++ 2

--R Type: Union(Expression(Integer),...)
--E 38

--S 39 of 510
m0007 := a0007-r0007

--R X

--R ++ sinh(%N b + a)

—R (31) | mmmmmmmmm———e- d%N - 10007
--R ++ 2

--R Type: Expression(Integer)
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--S 40 of 510
d0007:= D(m0007,x)

--R sinh(b x + a)

--R Type: Expression(Integer)

--S 41 of 510
t0008:= sinh(a+b*x)~3/x"2

--R sinh(b x + a)

--R Type: Expression(Integer)

--S 42 of 510

r0008:= -1/4*(3*b*cosh(a)*Chi (b*x) *x-3*b*cosh(3*a)*Chi (3*b*x) *x—_
3*xsinh (a+b*x)+sinh (3*a+3*b*x)+3*b*sinh (a)*Shi (b*x) *x-_
3*b*sinh (3*a) *Shi (3*b*x) *x) /x

--R

--R There are no library operations named Chi

--R Use HyperDoc Browse or issue

--R Jwhat op Chi

--R to learn if there is any operation containing " Chi " in its
--R name.

--R

--R Cannot find a definition or applicable library operation named Chi
--R with argument type(s)

--R Polynomial (Integer)

--R

--R Perhaps you should use "Q" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 42

--S 43 of 510

a0008:= integrate(t0008,x)

--R

--R

--R X 3

--R ++ sinh(%N b + a)

--R  (34) | - d%N

--R ++ 2
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--R N
--R Type: Union(Expression(Integer),...)
--E 43

--S 44 of 510

m0008:= a0008-r0008

--R X 3

--R ++ sinh(%N b + a)

--R (35) | ——————————————- d%N - r0008
--R ++ 2

--R Type: Expression(Integer)
--E 44

--S 45 of 510
d0008:= D(m0008,x)

--R sinh(b x + a)

--R Type: Expression(Integer)

--S 46 of 510
t0009:= sinh(a+b*x)/x"3

--R sinh(b x + a)

--R Type: Expression(Integer)

--S 47 of 510
r0009:= 1/2%(-b*cosh(a+b*x)*x+b~2%Chi (b*x)*sinh(a)*x~2-_
sinh (a+b*x)+b~2*cosh(a) *Shi (b*x)*x~2) /x"~2

--R

--R  There are no library operations named Chi

--R Use HyperDoc Browse or issue

--R Jwhat op Chi

--R to learn if there is any operation containing " Chi " in its
--R name.

--R

--R  Cannot find a definition or applicable library operation named Chi
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--R with argument type(s)
--R Polynomial (Integer)

--R Perhaps you should use "Q" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 47

--S 48 of 510

a0009:= integrate(t0009,x)

--R X

--R ++ sinh(%N b + a)

--R (38) | ————————————- axN
--R ++ 3

--R Type: Union(Expression(Integer),...)
--E 48

--S 49 of 510
m0009:= a0009-r0009

--R X

--R ++ sinh(%N b + a)

--R (39) | —————————————- d%N - r0009
--R ++ 3

--R Type: Expression(Integer)
--E 49

--S 50 of 510

d0009:= D(m0009,x)

--R sinh(b x + a)

--R Type: Expression(Integer)

--S 51 of 510

t0010:= sinh(a+b*x)~2/x"3

--R sinh(b x + a)
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--R X
--R
--E 51

--S 52 of 510

Type: Expression(Integer)

r0010:= b~ 2*cosh(2*a) *Chi (2*b*x)-b*cosh (a+b*x) *sinh (a+b*x) /x—_
1/2*sinh (a+b*x) "2/x"2+b"2*sinh (2+*a) *Shi (2*b*x)

name.

with argument type(s)

--E 52

--S 53 of 510
a0010:= integrate(t0010,x)

--R X 2
++ sinh(%N b + a)
(42) |
++ 3

--E 53

--S 54 of 510
m0010:= a0010-r0010

--R X 2
++ sinh(%N b + a)

(43) |
++ 3

--E 54

--S 55 of 510
d0010:= D(m0010,x)
--R
--R

There are no library operations named Chi
Use HyperDoc Browse or issue
Jwhat op Chi
to learn if there is any operation containing " Chi "

in its

Cannot find a definition or applicable library operation named Chi
Polynomial (Integer)

Perhaps you should use "Q" to indicate the required return type,
or "$" to specify which version of the function you need.

Type: Union(Expression(Integer),...)

- r0010

16
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--R sinh(b x + a)

--R Type: Expression(Integer)

--S 56 of 510
t0011:= sinh(a+b*x)~3/x"3

--R sinh(b x + a)

--R Type: Expression(Integer)

--8 57 of 510

r0011:= -3/8%b~2xChi (b*x)*sinh(a)+9/8%b~2*Chi (3*b*x)*sinh (3*a)-_
3/2*xbxcosh (a+b*x)*sinh(a+b*x) “2/x-1/2*sinh (a+b*x) ~3/x"2-_
3/8*b~2*cosh(a)*Shi (b*x)+9/8%b~2*cosh (3*a) *Shi (3*b*x)

--R There are no library operations named Chi

--R Use HyperDoc Browse or issue

--R Jwhat op Chi

--R to learn if there is any operation containing " Chi " in its
--R name.

--R Cannot find a definition or applicable library operation named Chi
--R with argument type(s)
--R Polynomial (Integer)

--R Perhaps you should use "Q@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 57

--S 58 of 510

a0011:= integrate(t0011,x)

--R X 3

--R ++ sinh(%N b + a)

--R (46) | e a%N
--R ++ 3

--R Type: Union(Expression(Integer),...)
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--S 59 of 510
m0011:= a0011-r0011

--R X 3

--R ++ sinh(%N b + a)

--R a7 | ———————————— d%N - r0011
--R ++ 3

--R Type: Expression(Integer)
--E 59

--S 60 of 510
d0011:= D(m0011,x)

--R sinh(b x + a)

--R Type: Expression(Integer)

--8 61 of 510
t0012:= sinh(x)~(1/2)

--R  (49) \lsinh(x)
--R Type: Expression(Integer)
--E 61

--S 62 of 510
r0012:= -2%%i*E1lipticE(-1/4*}pi+1/2%)i*x,2)*sinh(x)~(1/2)/()i*sinh(x))~(1/2)

--R  There are no library operations named EllipticE

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticE

--R to learn if there is any operation containing " EllipticE " in
--R its name.

--R

--R  Cannot find a definition or applicable library operation named
--R EllipticE with argument type(s)

--R Expression(Complex(Integer))

--R Positivelnteger

--R

--R Perhaps you should use "@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
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--E 62

--S 63 of 510
a0012:= integrate(t0012,x)

--R (50 | \lsinh(%N) d%N

--R ++

--R Type: Union(Expression(Integer),...)
--E 63

--S 64 of 510
m0012:= a0012-r0012

--R R e +

--R (61) | \lsinh(¥N) d%N - r0012

--R ++

--R Type: Expression(Integer)
--E 64

--S 65 of 510
d0012:= D(m0012,x)

--R (62) \lIsinh(x)
--R Type: Expression(Integer)
--E 65

--S 66 of 510
£0013:= (sinh(x)"3)"(1/2)

--R (63) \lsinh(x)
--R Type: Expression(Integer)
--E 66

--S 67 of 510
r0013:= -2/3*csch(x) "2x(sinh(x)"3) " (1/2)*(-%i*E1lipticF(-1/4*Ypi+_
1/2%%i*x,2)* (%i*sinh(x) )~ (1/2)-cosh(x)*sinh(x))

--R

--R There are no library operations named EllipticF
--R Use HyperDoc Browse or issue

--R Jwhat op EllipticF
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--R to learn if there is any operation containing " EllipticF " in
--R its name.

--R Cannot find a definition or applicable library operation named
--R EllipticF with argument type(s)

--R Expression(Complex(Integer))

--R Positivelnteger

--R Perhaps you should use "Q@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 67

--S 68 of 510
a0013:= integrate(t0013,x)

--R (64) | \lsinh()N) d¥N

--R ++

--R Type: Union(Expression(Integer),...)
--E 68

--S 69 of 510
m0013:= a0013-r0013

--R ++ | 3

--R (55) | \Isinh(%N) d%N - r0013

--R ++

--R Type: Expression(Integer)
--E 69

--S 70 of 510
d0013:= D(m0013,x)

--R (66) \lIsinh(x)
--R Type: Expression(Integer)
--E 70

--S 71 of 510
t0014:= (sinh(x)"4)"(1/2)
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==k (67) \lIsinh(x)
--R Type: Expression(Integer)
--E 71

--S 72 of 510
r0014:= -1/2*csch(x) "2*(sinh(x) "4)~(1/2) *(x-cosh(x)*sinh(x))

--R 2 2 | 4

--R (cosh(x)csch(x) sinh(x) - x csch(x) )\lIsinh(x)

--R (68) --- - - - -

--R 2

--R Type: Expression(Integer)
--E 72

--S 73 of 510
a0014:= integrate(t0014,x)

--R cosh(x)sinh(x) - x

--R Type: Union(Expression(Integer),...)

--S 74 of 510
m0014:= a0014-r0014

--R  (60)

--R 2 2 | 4
--R (- cosh(x)csch(x) sinh(x) + x csch(x) )\|sinh(x) + cosh(x)sinh(x) - x

__R —_—— —_ —_ —_ —_

--R Type: Expression(Integer)
--E 74

--S 75 of 510
d0014:= D(m0014,x)
--R  (61)

--R 2 2 | 4 2 6
--R (sinh(x) + cosh(x) - 1)\l|sinh(x) - csch(x) sinh(x)

--R 2 5
--R 2cosh(x)coth(x)csch(x) sinh(x)
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--R 2 2 4 2 3
--R (- 2x coth(x) - 3cosh(x) + 1)csch(x) sinh(x) + 2x cosh(x)csch(x) sinh(x)

--R 2\|sinh(x)
--R Type: Expression(Integer)
--E 75

--S 76 of 510
t0015:= 1/(at+b*sinh(c+d*x)) "2

--R b sinh(d x + ¢) + 2a b sinh(d x + ¢) + a
--R Type: Expression(Integer)
--E 76

--S 77 of 510

r0015:= -2*a*atanh((b-a*tanh(1/2*c+1/2*d*x))/(a"2+b~2)"~(1/2))/_
(a~2+b~2) " (3/2) /d-b*cosh(c+d*x) /(a"2+b~2) /d/ (a+b*sinh (c+d*x))

--R  (63)

--R (2a b sinh(d x + ¢) + 2a )atanh(-—---——--——--———-—- )

--R | 2 2
--R - b cosh(d x + c)\Ib + a

--R 3 2 2 3 | 2 2

--R (b + ab)d sinh(d x +c) + (ab + a)d)\|lb + a

--R Type: Expression(Integer)
--E 77

--S 78 of 510
a0015:= integrate(t0015,x)

--R  (64)
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--R 2 2
--R a b sinh(d x + ¢) + (2a b cosh(d x + c) + 2a )sinh(d x + c)

--R 2 2
--R a b cosh(d x+c) +2acosh(dx+c)-ab

--R log
--R 2 2 2
--R b sinh(d x + ¢) + (2b cosh(d x + c) + 2a b)sinh(d x + c)

--R 2 2 2 2
--R b cosh(d x + ¢) + 2a b cosh(d x +c) +b + 2a

--R 3 2 3 2
--R (- 2b - 2a b)sinh(d x + ¢c) + (- 2b - 2a b)cosh(d x + c)

--R 2 3
--R - 2ab - 2a

--R 2

--R b sinh(d x + ¢) + (2b cosh(d x + ¢) + 2a)sinh(d x + c)
__R +

--R 2

--R b cosh(d x + ¢) + 2a cosh(d x +c) - b

--R (2a sinh(d x + ¢c) + 2a cosh(d x + ¢c) - 2b)\|b + a

--R 3 2 2
--R (b + a b)d sinh(d x + ¢)

--R 3 2 2 3

--R ((2b + 2a b)d cosh(d x + ¢c) + (2a b + 2a )d)sinh(d x + c¢)

--R +

--R 3 2 2 2 3 3 2
--R (b +ab)dcosh(dx+c) + (2ab + 2a )d cosh(dx +c) + (-b - ab)d

--R Type: Union(Expression(Integer),...)

--S 79 of 510
m0015:= a0015-r0015

23



(65)

2 3 2 2 2
a b sinh(d x + ¢) + (2a b cosh(d x + c) + 3a b)sinh(d x + c)

2 2 2 2 3
(a b cosh(d x +c) + 4a b cosh(dx +c) - ab + 2a )sinh(d x + c¢)

2 2 3 2
abcosh(dx+c) +2acosh(dx+c)-ab

log
2 2 2
b sinh(d x + ¢) + (2b cosh(d x + c) + 2a b)sinh(d x + c)
+
2 2 2 2
b cosh(d x + ¢) + 2a b cosh(d x +c) +b + 2a
*
Fmm————— +
| 2 2
\Ib + a
+
3 2 3 2
(- 2b - 2a b)sinh(d x + ¢c) + (- 2b - 2a b)cosh(d x + c)
+
2 3
- 2ab - 2a
/
2
b sinh(d x + ¢) + (2b cosh(d x + c) + 2a)sinh(d x + c)
+
2
b cosh(d x + ¢) + 2a cosh(d x +c) - b
2 3 2 2 2
- 2a b sinh(d x + ¢) + (- 4a b cosh(d x + ¢c) - 6a b)sinh(d x + c)
+
2 2 2 2 3
(- 2a b cosh(d x + ¢c) - 8a b cosh(dx +c) +2ab - 4a)
*
sinh(d x + ¢)
+
2 2 3 2
- 2a b cosh(d x + ¢) - 4a cosh(d x + c) + 2a b
dx+c
a tanh(------- ) - b
2
atanh(-——----—-——----—————- )
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2 2
(b cosh(d x + ¢) + 2a b)sinh(d x + c)

2 2 2 2
(2b cosh(d x + ¢c) + 4a b cosh(d x + ¢) - 2b + 2a )sinh(d x + c)

2 3 2 2 2
b cosh(d x + ¢) + 2a b cosh(d x + c) + (- b + 2a )cosh(d x + ¢)

- 2ab

4 2 2 3
(b + ab )d sinh(d x + c)

4 2 2 3 3 2
((2b + 2a b )d cosh(d x + c) + (3a b + 3a b)d)sinh(d x + c)

4 2 2 2 3 3
(b +ab)dcosh(dx+c) + (4ab + 4a b)d cosh(d x + ¢)

4 2 2 4
(-b +ab + 2a)d

sinh(d x + c)

3 3 2 2 2 4
(ab + ab)d cosh(dx+c) + (2ab + 2a )d cosh(d x + c¢)

Type: Expression(Integer)

--S 80 of 510
d0015:= D(m0015,x)

25



23 5
- a b sinh(d x + ¢)

4 2 2
(- abcosh(dx+c) -4ab

4
sinh(d x + c)

4 3
- 4a b cosh(d x + ¢c) - 10

4 32
(8a b - 8a b )cosh(d x +

3
sinh(d x + c)

4 4
- 6a b cosh(d x + ¢c) - 16

4 32
(6a b - 18a b )cosh(d x +

32
10a b

2
sinh(d x + c)

4 5
- 4a b cosh(d x + ¢) - 13

4 32
(4a b - 16a b )cosh(d x +

32 23
16a b cosh(d x + c) - a b

sinh(d x + ¢)

4 6 23
- abcosh(dx+c) -4ab co

4 32 4
(2a b - 5a b )cosh(d x + ¢)

4 32 2
(-ab + 6ab )cosh(d x + c)

26

3 4 32
cosh(d x +c) +4ab -ab)

23 2
a b cosh(d x + c¢)

23
c) + 10a b

23 3
a b cosh(d x + c)

2 23 4
c) + (20a b - 4a b)cosh(d x + c)

23 4
a b cosh(d x + c)

3 23 4
c) + (14a b - 8a b)cosh(d x + c)

4
+ 4a b

5
sh(d x + ¢)

23 4 3
+ (4a b - 4a b)cosh(d x + c)

4 32
+ 4a b cosh(d x +c) - ab

2



6 5 4 5
+ (- 8b cosh(d x + ¢) - 10a b )sinh(d x + c¢)

2 4 5 23
+c) -32a b cosh(dx+c) -4b -24ab )

2 5 23 4

- 28a b cosh(d x + c) + (-8 - 56ab )cosh(d x +c) - 4ab

4 4 3
c) + 8a b cosh(d x + c¢)

3 2 4 32
Jcosh(d x + ¢c) + (- 16a b - 48a b )cosh(d x + ¢)

5 4 4
c) + 22a b cosh(d x + ¢)

3 4 32 2
Jcosh(d x + ¢c) + (- 20ab - 24a b )cosh(d x + ¢)

4 4

(- 8 b - 16a b)cosh(d x + c) - 2a b

tanh (-———--- )
2
5
- 2b sinh(d x + c¢)
+
5
(- 10b cosh(d x
*
4
sinh(d x + ¢)
+
4
+
32
- 24a b
*
3
sinh(d x + ¢©)
+
5
10b cosh(d x +
+
5 2
(-8 -32ab
+
5 4
-2b -8ab
*
2
sinh(d x + ¢)
+
5
8b cosh(d x +
+
5 23
(-8 +8ab
+
23
*
sinh(d x + c)
+

5 6
2b cosh(d x + c)

5 2 3
(- 4b + 8a b )cos

4 5
+ 8a b cosh(d x + c¢)

4 4 3
h(d x + ¢c) - 8a b cosh(d x + ¢)

27



5 23 4 2
(2b - 8a b - 8a b)cosh(d x + c¢)

a b sinh(d x + c)

4 2 23 4
(a b cosh(d x + c) + 4a b cosh(d x +c) - 4ab

4 3 2 3 2
4a b cosh(d x + ¢) + 10a b cosh(d x + ¢)
+
4 32 2 3
(-8 b + 8ab)cosh(dx+c) - 10ab
3
sinh(d x + ¢)

4 4 23 3

6a b cosh(d x + ¢) + 16a b cosh(d x + ¢)

+
4 32 2 23

(-6ab + 18a b )cosh(d x + c) + (- 20a b

+
32
- 10a b
2
sinh(d x + ¢)
4 5 23 4

4a b cosh(d x + ¢) + 13a b cosh(d x + ¢)

+
4 32 3 23

(- 4ab + 16a b )cosh(d x + c) + (- 14a b

+
32 23 4

- 16a b cosh(d x +c) +ab -4ab
sinh(d x + ¢)
4 6 2 3 5

a b cosh(d x + ¢) + 4a b cosh(d x + ¢)

4 32 4 23 4

28

32
+ a b )sinh(d x + ¢)

4
+ 4a b)cosh(d x + c)

4
+ 8a b)cosh(d x + ¢)

4

2



(-2ab + 5ab )cosh(dx +c) + (-4ab + 4a b)cosh(d x + c)

(a b

4

32 2 4 32
- 6ab )cosh(d x + ¢) - 4a b cosh(dx +c) +ab

6 3 4 6

(ab + ab)sinh(d x + c)

6 3 4 25 4 3 5

((4a b + 4a b )cosh(d x + c) + 6a b + 6a b )sinh(d x + ¢)

6 34 2 25 4 3
(6ab + 6a b )cosh(d x + c) + (20a b + 20a b )cosh(d x + c)

6 34 52
- 2ab + 1lab + 13a b

4
sinh(d x + c)

6 34 3 25 4 3 2
(4a b + 4a b )cosh(d x + c) + (24a b + 24a b )cosh(d x + c)

6 34 52 25 4 3 6
(-4ab +32ab + 36ab )cosh(dx +c) -8ab +4ab + 12a b

3
sinh(d x + c)

6 34 4 25 4 3 3
(ab + ab)cosh(dx+c) + (12a b + 12a b )cosh(d x + c)

6 34 52 2
(-2ab +32ab + 34a b )cosh(d x + c)

25 4 3 6 6 34 52
(- 12ab + 16a b + 28a b)cosh(d x +c) +ab -9ab -6ab
4a

2
sinh(d x + c)

25 4 3 4 34 52 3
(2a b + 2a b )cosh(d x +c) + (12a b + 12a b )cosh(d x + c)

25 4 3 6 2
(-4ab + 16a b + 20a b)cosh(d x + c)

29



--R 34 52 7 25 4 3 6
--R (-12a b -4ab + 8a )cosh(dx+c) +2ab -2ab -4ab

--R sinh(d x + c)

--R 34 52 4 4 3 6 3
--R (ab + ab)cosh(dx +c) + (4ab + 4a b)cosh(d x + c)

--R 34 52 7 2 4 3 6
--R (-22ab +2ab + 4a )cosh(d x+c) + (-4ab - 4a b)cosh(d x + ¢)

--R 7 25 6
--R (- 2b - 2a b )sinh(d x + ¢)

--R 7 25 6 34 5
--R ((- 8 -8ab )cosh(d x+c) - 12a b - 12a b )sinh(d x + c)

--R 7 25 2
--R (- 12b - 12a b )cosh(d x + c)

--R 6 34 7 25 4 3
--R (- 40a b - 40a b )cosh(d x +c) +4b -22ab - 26ab

--R 4
--R sinh(d x + c)

--R 7 25 3 6 34 2
--R (-8 -8ab)cosh(d x+c) + (-48a b - 48a b )cosh(d x + c)

--R 7 25 4 3 6 34 5 2
--R (8b - 64a b - T72a b )cosh(d x +c) + 16ab -8ab -24a b

--R 3
--R sinh(d x + c)

--R 7 25 4 6 34 3
--R (-2b -2ab)cosh(d x +c) + (-24ab - 24a b )cosh(d x + c)

--R 7 25 4 3 2
--R (4b - 64a b - 68a b )cosh(d x + c)

--R 6 34 52 7 25 4 3
--R (24a b -32a b -56ab )cosh(dx +c) -2b + 18ab + 12a b
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8a b

2

sinh(d x + ¢)

(

(

(

(

6 34 4
-4ab - 4a b )cosh(d x + ¢)

25 4 3
- 24a b - 24a b )cosh(d x + ¢

6 34 52

3
)

2

8a b -32ab - 40a b )cosh(d x + ¢)

25 4 3 6

6 3 4 52

24a b + 8ab - 16a b)cosh(d x + c) - 4ab +4ab +8ab

sinh(d x + c)

(- 2a

2
(4a b

(-ab -
6

((- 4a b
(- 6a

6

2a b

sinh(d

25 43 4

34 52 3

b - 2ab )cosh(dx+c) +(-8ab -8ab )cosh(d x + c)

5 4 3 6
- 4a b - 8a b)cosh(d x + c)

34 6
a b )sinh(d x + ¢)

34 25
- 4a b )cosh(d x + ¢c) - 6ab

6 3 4 2

2

34 52
+ (Bab + 8ab )cosh(d x + ¢)

4 3 5
- 6a b )sinh(d x + ¢)

25 4 3

b -6ab )cosh(dx+c) + (-20ab - 20ab )cosh(d x + c)

34 52
- 1lab - 13a b

4
X + c)
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(-4ab -4ab

6
(4a b

34
- 32a b

3
sinh(d x + ¢)

6
(-ab

34
-ab)

6
(2a b

34
- 32a b

2
(12a b

5 4

- 16a b

2
sinh(d x + ¢)

25
(- 2ab

4
- 2ab

25
(4a b

4 3
- 16a b

34
(12a b

52
+ 4a b

sinh(d x + ¢)

34
(-ab

52
- ab )cosh

34
(2a b

52
- 2ab - 4a
52
ab

--E 80

--S 81 of 510
t0016:= 1/(a+b*sinh(c+d*x))"3

Jcosh(d x + ¢c) + (- 24a b - 24a b )cosh(d x + ¢)
52

- 36a b )cosh(d

25
X+ c) +8ab

4 3
-4ab

6
- 12a b

4 25 4 3 3
cosh(d x + ¢) + (- 12a b - 12a b )cosh(d x + c¢)
52 2
- 34a b )cosh(d x + c)
3 6 6 34 52 7
- 28a b)cosh(d x + c) —ab +9ab + 6ab - 4a
3 4 34 52 3
Jcosh(d x + ¢) + (- 12a b - 12a b )cosh(d x + c)
6 2
- 20a b)cosh(d x + ¢)
7 25 4 3 6
- 8a )cosh(d x +c) - 2ab +2ab +4ab
4 4 3 6 3
(dx+c) + (-4ab - 4a b)cosh(d x + c)
7 2 4 3 6 3 4
Jcosh(d x + ¢c) + (4ab + 4a b)cosh(d x +c) —ab

Type: Expression(Integer)

b sinh(d x + ¢)

3

+ 3a b sinh(d x + ¢) + 3a b sinh(d x + ¢c) + a
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--R Type: Expression(Integer)
--E 81

--S 82 of 510

r0016:= -(-b~2+2%a"2)*atanh((b-a*tanh(1/2%c+1/2*xd*x))/(a~2+b~2)~(1/2))/_
(a~2+b~2)~(5/2)/d-1/2*b*cosh(c+d*x)/(a~2+b~2) /d/ (a+b*sinh (c+d*x)) ~2-_
3/2*axbxcosh(c+d*x)/(a~2+b~2) "2/d/ (a+b*sinh (c+d*x))

--R  (68)
--R 4 2 2 2 3 3 2 2
--R (-2b + 4a b )sinh(d x + c) + (- 4ab + 8a b)sinh(d x +c) - 2a b

--R 4a

--R 2 3 2 | 2 2
--R (- 3a b cosh(d x + c)sinh(d x + ¢) + (- b - 4a b)cosh(d x + c))\|b + a

--R 6 2 4 4 2 2
--R (2b + 4a b + 2a b )d sinh(d x + ¢)

--R 5 33 5 2 4 4 2 6
--R (4ab +8ab + 4a b)d sinh(d x + c) + (2a b + 4a b + 2a )d

--R Type: Expression(Integer)
--E 82

--S 83 of 510

a0016:= integrate(t0016,x)

--R  (69)
--R 4 2 2 4
--R (b - 2a b )sinh(d x + ¢)

--R 4 2 2 3 3 3
--R ((4b - 8a b )cosh(d x + ¢c) + 4a b - 8a b)sinh(d x + c)

33



(

4 2 2 2
6b - 12a b )cosh(d x + c) + (

4 2 2 4
2b + 8a b - 8a

2

sinh(d x + ¢)

(

(

4 2 2 3
4b - 8a b )cosh(d x + c) + (1

4 2 2 4
- 4b + 16a b - 16a )cosh(d x

sinh(d x + c)

4
(b -
(- 2b

4
b -

log

+

2 2 4 3
2a b )cosh(d x + ¢c) + (4a b

4 2 2 4 2
+8ab - 8a )cosh(d x + ¢)

2 2
2a b
2 2 2
b sinh(d x + ¢) + (2b cosh
2 2

b cosh(d x + ¢c) + 2a b cos

| 2 2

(2b + 2a b)sinh(d x + ¢c) + (2b

2a

2
b sinh(d x + ¢) + (2b cosh(d x

2
b cosh(d x + ¢) + 2a cosh(d x

34

3 3
12a b - 24a b)cosh(d x + c)

3 3 2
2a b - 24a b)cosh(d x + ¢)

3 3
+c) -4ab +8ab

3 3
- 8a b)cosh(d x + ¢)

3 3
+ (- 4ab + 8a b)cosh(d x + ¢)

(d x +c) + 2a b)sinh(d x + c¢)

2 2
h(d x + ¢c) +b + 2a

3 2 2
+ 2a b)cosh(d x + ¢c) + 2a b

+ ¢c) + 2a)sinh(d x + c)

+c) -b



3 2 3
(- 2b + 4a b)sinh(d x + c)

3 2 2 3 2
((- 6b + 12a b)cosh(d x + ¢) - 6a b + 12a )sinh(d x + c)

3 2 2 2 3
(- 6b + 12a b)cosh(d x + ¢) + (- 12a b + 24a )cosh(d x + c)

3 2
- 2b - 20ab

sinh(d x + ¢)

3 2 3 2 3 2
(- 2b + 4a b)cosh(d x + ¢c) + (- 6a b + 12a )cosh(d x + ¢)

3 2 2
(- 2b - 20a b)cosh(d x + ¢c) + 6a b

| 2 2
\Ib + a

6 2 4 4 2 4
(2b + 4a b + 2a b )d sinh(d x + c)

6 2 4 4 2 5 33 5
((8b + 16a b + 8a b )d cosh(d x +c) + (Bab + 16a b + 8a b)d)

3
sinh(d x + c)

6 2 4 4 2 2
(12b + 24a b + 12a b )d cosh(d x + c¢)

5 33 5 6 4 2 6
(24a b + 48a b + 24a b)d cosh(d x + c) + (- 4b + 12a b + 8a )d

2
sinh(d x + c)

6 2 4 4 2 3
(8b + 16a b + 8a b )d cosh(d x + c)

5 33 5 2
(24a b + 48a b + 24a b)d cosh(d x + c)
+
6 4 2 6 5 33 5
(-8 + 24a b + 16a )d cosh(d x +c) + (-8 b - 16a b - 8a b)d
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--E 83

sinh(d x + c)

6 2 4 4 2 4
(2b +4a b + 2a b )d cosh(d x + c)

5 33 5 3
(Bab + 16a b + 8a b)d cosh(d x + c)

6 4 2 6 2
(-4 + 12a b + 8a )d cosh(d x + c)

5 33 5 6 2 4 4 2
(-8 b -16a b - 8a b)d cosh(dx +c) + (2b + 4a b + 2a b )d

Type: Union(Expression(Integer),...)

--S 84 of 510
m0016:= a0016-r0016

(70)

6 2 4 6
(b - 2a b )sinh(d x + ¢)

6 2 4 5 33 5
((4b - 8a b )cosh(d x + c) + 6ab - 12a b )sinh(d x + ¢)

6 2 4 2 5 33
(6b - 12a b )cosh(d x + ¢) + (20a b - 40a b )cosh(d x + ¢)

6 24 4 2
- 2b + 17a b - 26a b

4
sinh(d x + c)

6 2 4 3 5 33 2
(4b - 8a b )cosh(d x + ¢c) + (24a b - 48a b )cosh(d x + c)

6 2 4 4 2 5 33 5
(-4 + 44a b - T72a b )cosh(dx +c) -8ab +28ab -24ab

3
sinh(d x + c)
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6 24 4

5 33 3

(b - 2a b )cosh(d x +c) + (12a b - 24a b )cosh(d x + c)

6 24 4 2

2

(-2b + 38 b -68ab )cosh(d x + c)

5 33 5

6 24 4 2

(-12a b +52a b - 56a b)cosh(dx+c) +b -12ab + 24a b

- 8a

2
sinh(d x + c)

5 33 4

24 4 2 3

(2a b - 4a b )cosh(d x + c) + (12a b - 24a b )cosh(d x + c)

5 33 5

2

(-4a b + 28a b - 40a b)cosh(d x + c)

2 4 4 2 6

5 33 5

(-12a b +32a b - 16a )cosh(dx +c) +2ab -8ab +8ab

sinh(d x + c)

2 4 4 2 4 3
(ab -2ab)cosh(dx+c) + (4abd

2 4 4 2 6
(-2ab +8ab - 8a )cosh(d x + ¢)

2 4 4 2
ab -2ab

log
2 2 2

3

2

5 3
- 8a b)cosh(d x + ¢)

33 5
+ (- 4a b + 8a b)cosh(d x + c)

b sinh(d x + ¢) + (2b cosh(d x + c) + 2a b)sinh(d x + c)

2 2

2 2

b cosh(d x + ¢c) + 2a b cosh(d x + c) +b + 2a

| 2 2
\Ib + a

3 2
(2b + 2a b)sinh(d x + c) + (2b

37

3

2 2
+ 2a b)cosh(d x + ¢c) + 2a b



2a

2

b sinh(d x + ¢c) +

+

2

b cosh(d x + ¢c) +

6 2

4

(2b - 4a b )sinh(d x +

6
((8b - 16

6
(12b

6

- 4b

sinh(d x

6
(8b -

6

(- 8 +

sinh(d x

6
(2b -

6

(- 4b

(- 24a

4 2

48a b

sinh(d x

5
(4a b

2 4
a b )cosh(d x

2 4

(2b cosh(d x + ¢) + 2a)sinh(d x + ¢)

2a cosh(d x + c) - b

6
c)

5 33 5
+ c) + 12a b - 24a b )sinh(d x + ¢)

2 5 33

- 24a b )cosh(d x + ¢) + (40a b - 80a b )cosh(d x + c)

2 4

4 2

+ 34a b -52ab

4
+ c)

24

3 5 33 2

16a b )cosh(d x + c) + (48a b - 96a b )cosh(d x + c)

24

4 2 5 33 5

88a b - 144a b )cosh(d x + ¢c) - 16ab + 56a b - 48a b

3
+ c)

2 4
4a b )cosh(d

24

4 5 33 3
x+c) + (24ab - 48a b )cosh(d x + ¢)

4 2 2

+ 76a b - 136a b )cosh(d x + c)

5 33

b + 104a b

- 16a

2
+ ¢c)

33

5 6 2 4
- 112a b)cosh(d x + c) + 2b - 24a b

4 24 4 2 3

- 8a b )cosh(d x + c) + (24a b - 48a b )cosh(d x + c)
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5 33 5 2
(-8 b + 56ab - 80a b)cosh(d x + c)

2 4 4 2 6 5 33 5
(-24a b + 64a b - 32a )cosh(d x + c) +4ab - 16ab + 16a b

sinh(d x + ¢)

2 4 4 2 4 33 5 3
(2a b - 4a b )cosh(d x + c) + (Bab - 16a b)cosh(d x + ¢)

2 4 4 2 6 2
(-4ab + 16a b - 16a )cosh(d x + c)

33 5 2 4 4 2
(-8 b + 16a b)cosh(d x + c) +2ab -4ab

4 5 23 5
(3a b cosh(d x + ¢c) - 2b + 4a b )sinh(d x + c)

4 2 5 23 4
12a b cosh(d x + ¢) + (- 5b + 28a b )cosh(d x + ¢c) - 10a b

32
20a b

4
sinh(d x + ¢)

4 3 5 23 2
18a b cosh(d x + ¢) + (- 2b + 64a b )cosh(d x + c)

4 32 5 23 4
(- 26ab + 76a b )cosh(d x +c) - 2b -34ab + 28a b

3
sinh(d x + ¢)

4 4 5 23 3
12a b cosh(d x + ¢) + (4b + 64a b )cosh(d x + ¢)

4 32 2
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(- 18a b + 108a b )cosh(d x + c)

5 2 3 4
(-4 -66a b + 76a b)cosh(d x + ¢c) + 2a b

2
sinh(d x + ¢)

4 5 5 23
3a b cosh(d x + c) + (4b + 28a b )cosh(d x

4 32 3
(2a b + 68a b )cosh(d x + c)

5 2 3 4 2
(- 4b - 38a b + 68a b)cosh(d x + c)

4 32 5
(-5ab -68ab + 24a )cosh(d x + c) + 10a

sinh(d x + ¢)

5 23 5 4 32
(b + 4a b )cosh(d x + c) + (4ab + 16a b )cos

5 2 3 4 3
(-2b -6ab + 20a b)cosh(d x + ¢)

4 32 5 2
(-4ab -22ab + 12a )cosh(d x + c)

5 23 4 32
(b +2ab - 20a b)cosh(d x +c) + 6a b
| 2 2

\Ib + a

8 26 4 4 6
(2b +4a b + 2a b )d sinh(d x + ¢)

8 26 4 4 7
((8b + 16a b + 8a b )d cosh(d x + c) + (12a b

5
sinh(d x + c)

8 26 4 4 2
(12b + 24a b + 12a b )d cosh(d x + c)
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4 32 5

- 46a b + 12a

4
+ c)
23 4
b - 20a b
4
h(d x + ¢)
35 53

+ 24a b + 12a b )d)



7 35 53
(40a b + 80a b + 40a b )d cosh(d x + c)

8 26 4 4 6 2
(-4b + 18a b + 48a b + 26a b )d

4
sinh(d x + c)

8 26 4 4 3
(8b + 16a b + 8a b )d cosh(d x + c)

7 35 53 2
(48a b + 96a b + 48a b )d cosh(d x + c)

8 2 6 4 4 6 2
(-8 +56ab + 136a b + 72a b )d cosh(d x + c)

7 35 53 7
(-16ab -8ab + 32ab + 24a b)d

3
sinh(d x + c)

8 26 4 4 4
(2b +4ab + 2ab )d cosh(d x + c)

7 35 53 3
(24a b + 48a b + 24a b )d cosh(d x + c)

8 2 6 4 4 6 2
(-4b +60ab + 132a b + 68a b )d cosh(d x + c)

7 35 53 7
(-24a b +8ab +88ab + 56a b)d cosh(d x + ¢)

8 26 4 4 6 2 8
(2b - 16ab -30ab -4ab + 8a)d

2
sinh(d x + c)

7 35 53 4
(4ab +8ab + 4a b )d cosh(d x + c)

2 6 4 4 6 2 3
(24a b + 48a b + 24a b )d cosh(d x + c)

7 35 53 7
(-8 b +24a b + 72a b + 40a b)d cosh(d x + c)
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2

2



--R 26 4 4 6 2 8
--R (-24a b -32ab +8ab + 16a )d cosh(d x + c)

--R 7 53 7
--R (4ab - 12a b - 8a b)d

--R sinh(d x + c)

--R 26 4 4 6 2 4
--R (2ab +4ab + 2ab )d cosh(d x + c)

--R 35 53 7 3
--R (Bab + 16a b + 8a b)d cosh(d x + c)

--R 26 6 2 8 2
--R (-4a b + 12a b + 8a )d cosh(d x + c)

--R 35 53 7 26 4 4 6 2
--R (-8 b -16a b - 8a b)d cosh(d x +c) + (2ab + 4ab + 2ab )d

--R Type: Expression(Integer)
--E 84

--S 85 of 510

d0016:= D(m0016,x)

--R (71
--R 8 26 9
--R (b + a b )sinh(d x + c)

--R 8 26 7 35 8
--R ((6b + 6a b )cosh(d x + ¢c) + 10a b + 7a b )sinh(d x + ¢)

--R 8 26 2 7 35
--R (15b + 12a b )cosh(d x + ¢) + (B4a b + 36a b )cosh(d x + c)

--R 8 26 4 4
--R -3b +37ab + 16a b

--R 7
--R sinh(d x + c)

--R 8 26 3 7 35 2
--R (20b + 2a b )cosh(d x + ¢) + (118a b + 52a b )cosh(d x + c)
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8 26 4 4 7 35 53
(- 12b + 180a b + 66a b )cosh(d x + c) - 8ab +98ab + 22a b

6
sinh(d x + c)

8 26 4 7 35 3
(15b - 30a b )cosh(d x + ¢) + (128a b - 40a b )cosh(d x + c)

8 26 4 4 2
(- 18b + 351a b + 36a b )cosh(d x + c)

7 35 53 8 2 6
(-36ab +39%ab + 48a b )cosh(dx +c) +3b -2lab

4 4 6 2
164a b + 20a b

5
sinh(d x + c)

8 2 6 5 7 35 4
(6b - 54a b )cosh(d x + ¢c) + (B0a b - 210a b )cosh(d x + c)

8 26 4 4 3
(- 12b + 332a b - 226a b )cosh(d x + c)

7 35 53 2
(-54a b + 636ab - 90a b )cosh(d x + c)

8 2 6 4 4 6 2 7 35
(b - 66ab + 570ab + 12a b )cosh(d x + c) + 18a b - 42a b

53 7
168a b + 8a b

4
sinh(d x + c)

8 26 6 7 35 5
(b - 44a b )cosh(d x + ¢c) + (- 10a b - 268a b )cosh(d x + c)

8 26 4 4 4
(-3 + 123a b - 504a b )cosh(d x + c)

7 35 53 3
(- 20ab + 540a b - 400a b )cosh(d x + c)

8 2 6 4 4 6 2 2
(3b - 66ab + 800ab - 136a b )cosh(d x + c)
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7 35 53 8 26

(30ab -96a b + 504a b )cosh(d x +c) - b +35ab -44ab

6 2
88a b

3
sinh(d x + ¢)

2 6 7 7 35
- 18a b cosh(d x + ¢) + (- 26a b - 164a b )cosh(d x + c)

2 6 4 4 5
(- 36a b - 450a b )cosh(d x + c)

7 35 53 4
(24a b + 234a b - 510a b )cosh(d x + c)

26 4 4 6 2 3
(6a b + 596a b - 280a b )cosh(d x + c)

7 35 53 7 2
(ab - 72ab + 612a b - 48a b)cosh(d x + c)

2 6 4 4 6 2 7 35
(48a b - 90a b + 240a b )cosh(d x +c) - 4ab + 26ab

53 7
- 30ab + 24a b

2
sinh(d x + ¢)

2 6 8 7 35 7
- 3a b cosh(d x+c) + (-12a b - 48a b )cosh(d x + c)

2 6 4 4 6
(- 47a b - 188a b )cosh(d x + c)

7 35 53 5
(24a b + 30a b - 288a b )cosh(d x + c)

2 6 4 4 6 2 4
(51la b + 252a b - 204a b )cosh(d x + c)

7 35 53 7 3
(-12a b - 12a b + 344a b - 64a b)cosh(d x + ¢)

26 4 4 6 2 2

44

6



(3a

(30

sinh(

(- 2ab

7
(6a b

26
(24a b

b - 72

35
ab -4

d x + c)

7 3
- bab

35
- 8 b

4
+ 50a b

7 3

ab + 216a b )cosh(d x + ¢)

53 7 2 6 4 4 6 2
8a b + 48a b)cosh(d x +c) - 4ab +8ab - 12a b

5 8 2 6 4 4 7
Jcosh(d x + ¢c) + (- 12a b - 30a b )cosh(d x + ¢)

53 6
- 62a b )cosh(d x + c)

4 6 2 5
- 52a b )cosh(d x + ¢)

5 53 7 4

(-6ab +6ab + 78 b - 24a b)cosh(d x + c)

2
(- 12a

7
(2a b

4 4
(6a b

6

4 4 6 2 3

b - 26ab + 64a b )cosh(d x + c)

35
+ 8a b

6 2
- 12a b

53 7 2
- 18a b + 24a b)cosh(d x + c)

35 53
Jcosh(d x +c) —ab + 2ab

- 6a b sinh(d x + ¢)

7

8 26 8

(- 36a b cosh(d x + c) - 2b - 50a b )sinh(d x + c)

7

2 8 26

- 84a b cosh(d x + ¢) + (- 12b - 264a b )cosh(d x + c) + 4a b

-1

sinh(

35
64a b

dx+ c)

7

7

3 8 26 2

- 84a b cosh(d x + ¢) + (- 26b - 524a b )cosh(d x + c)
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35
- 756a b cosh(d x + c) - 26

6
sinh(d x + c)

8 26
(- 16b - 400a b )cosh(d x

7 35
(- 36a b - 1260a b )cosh(d

8 26 4 4
(-72b + 36ab - 1152a b

53
- 304a b

5
sinh(d x + c)

7 5
84a b cosh(d x + ¢c) + (30b

7 35
(- 40a b - 700a b )cosh(d

8 26 4 4
(- 72b - 42a b - 1560a b

7 35
(- 228a b + 24a b - 1008a

4 4 6 2
66a b - 160a b

4
sinh(d x + c)

7 6
84a b cosh(d x + c) + (68b

7 35
(60a b + 420a b )cosh(d x

8 26 4 4
(- 56b - 184a b - 608a b

7 35
(- 228ab -208a b - 1120

46

8 26 4 4
b + 14a b - 29a b

3
+ c)

2
X + c)

7 35
Jcosh(d x + c) - 84ab + 32a b

8 26 4
+ 120a b )cosh(d x + c)

3
X + c)

2
Jcosh(d x + c¢)

53 8 26
b Jcosh(d x + ¢c) - 6b - 126a b

8 26 5
+ 440a b )cosh(d x + c)

4
+ c)

3
Jcosh(d x + ¢)

53 2
a b )cosh(d x + c¢)



8 26 6 2 7

35

(- 12b - 288a b - 480a b )cosh(d x + ¢c) - 12a b - 116a b

53 7
32a b - 32a b

3
sinh(d x + ¢)

7 7 8 26 6
36a b cosh(d x + ¢c) + (58b + 316a b )cosh(d x + c)

7 35 5
(144a b + 756a b )cosh(d x + c)

8 26 4 4 4
(- 66b - 150a b + 456a b )cosh(d x + c)

7 35 53 3
(- 1566a b - 448a b - 352a b )cosh(d x + c)

8 26 4 4 6 2 2
(6b - 216a b - 288a b - 480a b )cosh(d x + c)

7 35 7 8 2 6
(- 24a b - 180a b - 96a b)cosh(d x + c) +2b + 2a b

2
sinh(d x + ¢)

7 8 8 2 6 7
6a b cosh(d x + c) + (24b + 96a b )cosh(d x + c)

7 35 6
(100a b + 364a b )cosh(d x + c)

8 26 4 4 5
(- 48b - 12a b + 480a b )cosh(d x + c)

7 35 53 4
(- 120a b - 336a b + 144a b )cosh(d x + c)

8 2 6 4 4 6 2 3
(24b - 72a b - 352a b - 160a b )cosh(d x + ¢)

7 35 53 7 2
(12a b - 36a b - 96a b - 96a b)cosh(d x + c)

26 4 4 7 35

47

4 4
- 48a b



(- 12a b - 48a b )cosh(d x +c) +2ab + 8ab

sinh(d x + ¢)

8 26 8

7

35 7

(4b + 10a b )cosh(d x + ¢c) + (24a b + 60a b )cosh(d x + c)

8 26 4 4

6

(- 12b + 18a b + 120a b )cosh(d x + c)

7 35 53

5

(-48a b -88a b + 80ab )cosh(d x + c)

8 26 4 4

4

(12b - 18a b - 120a b )cosh(d x + c)

7 35 53

7

3

(24a b + 28ab - 64a b - 32a b)cosh(d x + c)

8 26 2
(- 4b - 10a b )cosh(d x + c)

8 26 9
(-b - ab )sinh(d x + ¢)

8 26

((- 6b - 6a b )cosh(d x + c) - 10a b

8 26
(- 15b - 12a b )cosh(d x + c)

8 26 4 4
3b - 37ab -16a b

7
sinh(d x + c)

8 26 3
(- 20b - 2a b )cosh(d x + ¢)

8 26 4 4

2

7 35

+ (- 54a b

+ (- 118